1. This object is composed of a right triangular prism on top of a right rectangular prism.
Determine the surface area of the object.
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2. Determine the surface area of this composite object, to the nearest square centimetre.
The cylinder has diameter 3 cm and height 4 cm.
The prism has length 10 cm, width 7 cm, and height 7 cm.
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3. Abarn is built in the shape of a right rectangular prism with a semi-circular roof.

Determine the surface area of the barn. Give your answer to the nearest whole number.
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